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A student takes 5 mL acetic acid in test tube X and adds 3 mL distilled
water into it. In test tube Y, he takes 5 mL distilled water and adds 3 mL
acetic acid into it. After the mixtures settle down, he observes ‘

(A)
B)

- (©)
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(D)

colloid is formed in both test tubes

homogeneous mixture is formed in both test tubes
colloid is formed in X and homogeneous mixture in Y
homogeneous mixture is formed in X and colloid in Y
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When we add sodium hydrogen carbonate solution to acetic acid and
bring a burning splinter at the mouth of the test tube we observe that

(A)
(B)
©)
(D)

the gas burns with explosion
the burning splinter extinguishes
the flame of the splinter is not affected

the splinter starts burning rapidly
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A student has to prepare 20% aqueous solution of sodium hydroxide
solution for the study of saponification reaction. On opening the lid of the
bottle of sodium hydroxide, he would observe that it is in the form of

(A) fine white powder
(B)  white pellets/flakes
(C) small white beads

(D) colourless, transparent beads
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While studying saponification reaction for the preparation of soap we
make certain observations. Select from the following the correct
observation about the reaction mixture and the type of reaction :

(A) The reaction mixture is acidic and the reaction is exothermic
(B) The reaction mixture is basic and the reaction is exothermic
‘(C) The reaction mixture is basic and the reaction is endothermic

(D) The reaction mixture is acidic and the reaction is endothermic
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A student obtained a sharp image of grills of a window on a white screen
using a concave mirror. His teacher remarked that for getting better
value of focal length of the mirror he should focus a well let distant object
(preferably the Sun) on the screen. What should the student do for this

purpose ?

(A) Move the mirror and the screen towards the object
(B) Move the mirror and the screen away from the object
(C) Move the screen slightly away from the mirror

(D) Move the mirror slightly towards the screen
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To determine the focal length of given convex lens by obtaining a sharp
image of a well lit distant object on a screen, a student generally follows
the following steps which are not in proper sequence.

I Adjust the position of the lens to obtain a sharp image.
II. Select a well lit distant object.
III. Hold the lens between the object and the screen..

" IV. Place a screen opposite to the object on the lab table.

32.

31211

V. Measure the distance between the lens and the screen.
The correct sequence of these steps is

A ILEL IV, LV

B) LI, 1V, M0, V

(C).. I BT N N

(Dyte: 11,1 TN, VA
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A 30° 20° 29°
B 40° 30° 41°
C 50° 36° 49°
D 60° 35° 61°

HrauTgeh 39 I Sl B a1 & D &

(A) Ad9B

(B) BaC

(C) Cd9D

(D) AdID
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An experiment to trace the path of a ray of light through a glass slab was
performed by four students A, B, C and D. They reported the following
measurements of angle of incidence i, angle of refraction r and angle of
emergence e.

Student | Anglei | Angler | Anglee
A 30° 20° 29°
B 40° 30° 41°
C 50° 36° 49°
D 60° 35° §61°

 Which two students have performed the experiment cautiously ?
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(A) AandB
(B) BandC
(C) CandD
D) AandD
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A student traces the path of a ray of light through a rectangular glass
slab and marks the angle of incidence i, angle of refraction r and angle of
emergence e as shown :

The angles not correctly marked are

(A) iandr
(B) rande
(C) itande

(D) i rande
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(A) 2 -3 cm
(B) 3-5cm
(C) 6-8cm

(D) 10-15cm

For tracing the path of a ray of light through a glass prism, the ideal
distance between the two pins is

(A) 2-3cm
(B) 3-5cm
(C) 6-~8cm

(D) 10-15cm
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Study the following diagrams in which the path of a ray of light through

a glass prism as traced by four students A, B, C and D is shown :

The student who has traced the path correctly is

(A)
B)
©
(D)

A

B
C
D
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Study the following ray diagram drawns by four students to locate the

position of the image formed by a convex lens when the object is placed at
2
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The correct ray diagram is that of student

A 1
@) I
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Out of the five incident rays shown in the following figure, find the two
rays that are not obeying the laws of refraction and as such cannot be
used for locating the position of image formed by a convex lens.

(A) 2and3
@) 3 and 4
. (C) 4and5b
(D) 2and5
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the following observations :

I In this process a big cell and a small cell are formed.

108 In this brocess two daughter cells are formed.

III. At the end of the process cytokinesis is completed.

IV. At the end of the process identity of the parental cell is lost.

The correct observations are

@) 1301 Tl
B) II,III, Iv
© 1,11 v
D) LI, IV
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A student was given two slides, one of the binary fission in Amoeba and
the other of budding in yeast. He was asked by his teacher to identify one
difference in the number of nuclei in each one of them. He observed the
slides carefully under high power of microscope and identified the two
slides on the basis of presence of

(A) two nuclei in the centrally constricted Amoeba, one nucleus in the
yeast cell and one in the bud

(B) two distinct nuclei in Amoeba, one in yeast cell and two in its bud
(C) one nucleus in Amoeba, two in yeast and one in bud

(D) single nucleus each in Amoeba and yeast cell and none in the
attached bud
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41.

II. Wings of birds and forelimb of horse are homologoyg organs.
III. Wings of birds and wings of ingectg are modified forelimbs.
IV. Wings of birds and wings of bats are homologoug organs.

(A) Iand IT are correct

(B) IIand IIT are correct

(C) Iand IIT are correct

@ T g IV are correct
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A student wants to collect analogous organs for hig project. Which one of

the following pairs would you suggest ?
A) - Forelimbsg of frog and forelimbg of bird




A student draws the diagram of a dicot seed to show the different parts of
its embryo. He has marked its parts as A, B,CandD:

The correct labelling of these parts respectively is
(A) Plumule, Radicle, Cotyledon, Seed coat
(B) Plumule, Radicle, Seed coat, Cotyledon
(C)  Radicle, Plumule, Cotyledon, Seed coat
(D) Radicle, Plumule, Seed coat, Cotyledon




